Polygons —Day 6

Rhombi and Squares Notes

Properties of Rhombi A rhombus iz a quadrilateral with four
congruent sides. Opposite sides are congruent, so a rhombus is also a
parallelogram and has all of the properties of a parallelogram. Rhombi

alza have the following properties.
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2. Determine whether the figure with vertices E(-7,3), F(-2,3),

G(1,7) H(-4,7) is a
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Polygons —Day 6

Properties of Squares A square has all the properties of a rhombus and all the

properties of a rectangle.

2 Find the measure of cach numbered angle of

square ABCD,
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2. Determine whether the figure with vertices E(-2,-1), F(-1,3), G(3,2), and H(2,-2)

is a square.
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